EARAZROREIERT — 2 N—XBISY —F 2018548 16H (B) 1EXFH1H

Il 5% 3% 5 3FKE B IR
[A&4£] 1 7% :1,700,000 2 7 :680,000 @ 337 :425,000  ~ 4 3#&:255,000 @ 5 7 :170,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o) — . it 3 | EBAH 1:15.5 2-1 38.8| — 2 | 438 | TEWIBSE (k)
117111 7> R)—=714X 54.0 =) (—) |#EHE
:7UF—-v B:ILCX EZdHTT— L
N 113 : = = KHEZEM (KHF
A . RS DT i 3 s 1.(187).1 4-4 40.1 1 (4E7) yiﬁgzgé )
x40 B:xUJE—F LR &
sl g| Z1TH-—1TE> # 3 | ZHE 1:17.5 -1 408 — | 3 | 470 ﬁfggg (1)
. 2
QHIRG ISR YA AT A b @ @9 |5 g
al7lip|B—LELT 3 ?ﬁ_ﬂgﬁ% (12:118/.20) 56 (408 — | 9 | 447 fg;}i?‘;*ﬁc#)
QO—YXA A1 BE2T7HLVELFK O 3T s
1 : 2P 4 3 EJI(I)%%T 1(:11/82.>1 9-8 39.9 — 10 | 461 ;a.%.g% (KH#)
LFHVITIRE B FHVTTTa (R oo
cH > v H—ZxOH¥y + 4 3 ﬁﬁ%ﬂéz (11:118/.24) 12-10  [39.8| — 8 g) %(i)%g:%ﬁ?)dgar
R/ EL—v B2/ TIN—T BR&t =ZRABREHARERt> %
NN EHH= . - — =it
71813/ N\ T4 —Fr 2R o8| FHR (12.118/.2% 3-3 42.1 5 | 434 EEEE (K3)
LH—WRFY - B 1) | 4850 .
8 ol 7ryxsnr4 4 3 ﬁﬁoﬁ 1(/1\{;? 8-9 4.7 — 12 | 422 ;Eu%% (21iA)
¥ FANZN B:ILAZATNILY (1) At A
glglial TZTUZ—U> # 3 g%ﬂ;@% (171;79) 1413 [39.1| — | 7 | 457 ii%%éﬂr)
LHY KT BiwaARILIL )| msg
L RTS 4 3 | HTHESR 1:19.1 10-11 40.6| — 6 471 | ERER (KH)
100111 7V>RTZFF 54.0 (1 1/4) o) | WA
R:ym7% B:ULHTITLH EY1T7—L
115/ 8|E>TF—T1—-7 >3 | BIRA 1:(139).7 1n-12 |41 — | 11 | 449 ;Egé (k)
RiFA—T2AHA BT RIAYF(T T
1ol 9| O—XT v Rx—¥ f 3 EQELB?)"% (171;77) -7 |48 — | 14 <4+277) Fggz_(jc#)
RA—XX>2T8L B:ov /> —UERKIS
1315 7 FoAZXATT—Z i 3 Zﬁ:ﬁf 1:(220).1 6-5 25| — 13 | 38 i%g% (KF)
:A>FaAv b BiT7ZLX (-1) TILFTr—L
N : BRESE LAY # 3 5#%%%% (11:210/.5 18-14 | 40.6 | — | 4 | 498 lffﬁ;ﬁgz (K3)
LRILTSY BTy b ATFSAT EETET
® 1—F—@EBIERL
13—7-—
20—F—
§a=7r= 6,11,13,4,12,7,9,10,5,1,8,2,3,14
43—+ — (6,11),13,4,7,12,9,5,10,2,1,8,14,3
[ N5
BB 1 4208 | | 714K 4-11 250/ | | # E 3-7 420M | | =R 4-6-11 1,250
B B 1 120 6-11 510M e B =3 910/ 3EE 11-4-6 5,660
4 100M 4-6 270 B & 4-11 550
6 1509 B H 11-4 1,210

ABICOVWTRDTEEERROODE. TR LIV,




